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If so, you have nullified ‘do not reveal the nakedness of your sister’

Overview

X7 maintains (based on the "1 of nnn nnn) if one is 0aX» his sister he pays oip, but
does not receive mphn. However, 1an1° "1 argues, for in that case you have nullified
the W of 7930 X2 Tmnx nMAw,' so therefore he maintains >wn 1°X) 7Y (when there
is 7X7N7). MooIn distinguishes between this %7 711022 and other cases of W77 710,

nooIN asks:
- 195y *)mIh PRY 1199 NN 135023 >HYYY PNYIN INDY NWen 13 PRY INY 53 9INN ON)

And if you will say, by every 18% which has no action, or a 7wy% pn7 IRY, we
have nullified the 18>, since one is not flogged for transgressing it -

Moo responds:
- "N MPYN 92 IND NINNT NN NN IND NN

This is no issue at all, for there by a 7wyn 12 1XYW WK or a WYY NI X7, that 1R? is

not punishable by nip» ever -
- 1935 MPYIN YPIANY MY NN WAPNRY 19 1Y *mpbn 93 7uT 89N Yax

However here by the W7 of 72an X% Jmink My, where nmpb» is applicable,

therefore we cannot expound the @''t3 to exempt him from nip>» -
$MINR 'NNDIAN MY N9 MYPING NIINT 119
Since we can establish the @w''ta for another purpose.

Summary

! Transgressing the W requires a punishment of np%», and if we maintain 71> 1% 2%wn we are nullifying the 5.

2 The Y of 911 (not to leave over the meat of o*wTp after their proscribed time) is a wYH 12 PRY WO.

3 The WY of 72°1 is a AW PR3 WY (you are commanded to return it to its owner).

* There is no Mpn for a AWYN 12 PRY W or for a Mwy> pnow WY, so if *" claims that we are Yvan the W» of MW
T if we do not give him mpHn, the same can be said regarding a nwyn 12 PR W and 7wy? pn1w 7. This proves
that it does not matter whether there is Np%% or not, so why is there a problem with the 10°2 of 7230 8% Jminx my?!
> We derive the criteria for receiving mp s from the % of f2°0n which is stated immediately following the 7w of
mpon (see 7-8,72 [R¥N] 0°127); just as the WY of 7»°0n is a Awyn 12 Ww X7 (muzzling the animal) and it is not Pn
mwy (there is no way to correct the 1Y), so too all mp%n 21 need to be 7wy 12 w° and not WY pno.

% When one has (consensual) relations with his sister (not a case of being 01X his sister who is a 77¥1), there is a 211
mphn.

7 See later 8,37 that (according to »aX) 73y 7wX nnn informs us that the 01Xn must pay 03 nw1a. Therefore, it may
not be 719w for this w"r. Alternately the w"13 of nnn can be utilized elsewhere (by “wyn; see previous 271 77"7 '01N
TIE footnote # 5); why the need to apply it here where it will be v the W% of 7730 82 191 mw. See TIE there,
footnote # 3. See ‘Thinking it over’.
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There is a difference whether a x> intrinsically has no mp%n (which is acceptable,
like a 7wyn 12 PRW RY), or a XY which is sometimes excluded from np?n (which is
unacceptable, like 7230 X2 90X MY) on account of a 77 that can be used for
something else.

Thinking it over
mooin, in distinguishing between the 210°2 of 717y, and the w72 of n"aRw WY, is

seemingly saying two things, firstly that there (n"axw IX?) there are no cases where
there is mpYn, however here (by may) there are cases where mpo» 12 v,* and
additionally we can apply the w"m for >n>anx xn>».” Why was it necessary for
mooIn to add the second point; is the first point alone not sufficient to answer the
question?!

8 See footnote # 6.
? See footnote # 7.
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